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NIBANOY STAYPOYAA FEQF
1 AK373028 OxOx1 A |13 2 18,50 20 800 | O 0 0 60 | O 0 370,00 | 140 0 0 |Oxi| A |Oxi| 1.370,00
DOYTZITZOIAOY APTYPQ AHM}
5) AM778763 OxOx1 A [13 5 13,04 8 800 | 250 O 0 0 0 0 | 260,80 56 0 0 |Oxi| A |Oxi| 1.366,80] 2
KOYAOYPHZ NIKOAAOX AHM!
6 AN550515 OxOx1 A [ 11 14,01 725 1 0 0 0 0 0 0 | 280,20 0 0 0 |Oxi| A |Oxi| 1.00520] 3
POYTA MAPIA-IQANI NIKO
3 AE753726 OxOx1 A | 9 15,00 575 1 0 0 0 0 0 0 300,00 0 0 0 |Oxi| A |Oxi 875,00 4
NEKKA KAAAIOTMH  AHMI
4 T518414 OxOx1 A | 6 17,10 350 | O 0 0 0 0 0 342,00 0 0 0 |Oxi| A |Oxi 692,00 5
AOYMANH OQTEINH  TEQF
2 X903389 NaOx1 A 3 17,10 8 0 0 0 120 [ O 0 0 342,00 56 0 0 | Nai| A |Oxi 518,00 6
AZEI : Mivakag katdragng utroyn@iwv opiopévou Xpovou 1 amo 1




